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Combined 9 Bank 2022
Total questions : 80 Total marks : 80

1) Choose the correct spelling -

1
2
3

va

Kindergarden
Kintergarten

Kindergerten
Kindergarten

N— N N N

T : Correct spelling:

kindergarten (noun)

- TR RPFTeTICeR I3 20 OFd Q0| O F7 , SUEd 1T S0-@adER aie Qg
AR T Ry [erasided #ifipTiero e |

2) Which country won the first ICC World Cup?

1) Australia

v 2) West Indies
3) India

4) England

7T : FRPITo1 RPCRCs A BT 20 \3rG 3ot | ARl Oigfd® 2 d»ae e |

3) A gym class can be divided into 8 teams with an equal number of players
on each team or into 12 teams with an equal number of players on each
team. What is the lowest possible of students in the class?

1) 48
v 2)24
3) 36
4) 20

AT : The L.C.M of 8 and 12 is 24 so the lowest possible number of student is
24

4) During Liberation War of Bangladesh, P Dhaka was under which sector?

1) Sector 5
v 2) Sector 2
3) Sector 1



4) Sector 7

AT : R A PR W (2o SIar, WRAMSTICSR] 3L BT X127, BIRAIR \3 @RI (S
WTRARCN | 5K 1 2 v 0| 71 791 [2e] TSR Gy [a2[T, RO |

5) Who became the first Bangladeshi to win the professional golf
tournament, Asian Tour?

1
2
v 3
4

Ibrahim Musha

Habibur rahman
Siddiqur rahman
Toufigur rahman

~— N N

1A : BAWPA I IRATCR STETP (ARG T 575K | fofd 2050 RABIE IREATTOR <10F
YT STV BN B FRced AR TR RIR19MT [0 ST tdo IR Ty SerPpror A3 STad
HATIPT ALK TIRSTR BGS dICH WNGRW I 1305 R\ Wit fofd a2 1o Siorim
3T SRR TIRSIRT B QST TG B |

6) Which blood group is called universal donor?

1) B Negative

2) A Positive
3) AB Positive

v 4) O Negative

T : O 5FCOR (PR A0S (T A STOCATSd 1 AP I ACF SR I (3T 5184 |
O3 O ARAGANd 7ot 1 Universal Donor 30 | WKk AB $FC9IF 3061 (STIPCE A0 (@1
SIS a1 AT BRT 3K TG {6 21 | B3 BI0R SRS 512101 1 Universal Recipient
A

7) The headquarter of the World Bank is located in?

1) Geneva

v 2) Washington D.C
3) Berlin
4) Paris

AT : RPN I ABSIRGT AMAYE HLFT AT SRIPNA IR SFIT THPICGL Ty AT \3
I 27T I | \3TTS TP 88 SIeT AR 2| A7 THHTT ST AT HLATT dbrs 6 | 681
ATBTT (BROG TS| 1 57 T AT SR FOTN, Taig | Rgame speofk wmt s12s10a
T ¢ 5-1BRD, IDA, IFC, ICSID 13 MIGA.



8) Spyware is a type of

1) Highlighter

2) Navigator

3) Accounts software
v 4) Malware

AT : Malware & UF A IRIPOGII (OR Software @61 IPBTR AT FGIRR Fio
3P0 A | 2 Malware 2 virus torjon, horse, spyware, adware 397 |

9) Rabindranath Tagore received Nobel Prize in

1) 1920
v 2) 1913
3) 1921

)
)
)
4) 1910

AT : MO (5950) TRISTT Ty IATATY STPA YD ST S0 TG AR SRy
([T AT AT |

10) Which of the following country refused to sign the Bali Declaration over
Rohingya issue?

1) Bangladesh
2) China

3) Indonesia
v 4) India

I : 1T AR AT AT SRPPFRIPT @CH 3G AT UK (PRICER SO (BTSe D"
QA I FARITNE Q151 ARFBS g ot oerT 31 | TRCEARRR A0 F0oR 316
AACTOIR CPIRICER 9P SR QTR 3500 \33 (TR 5210 2 | IR 39 RTaam
TRIR \3 GIARIRAR 5eTaTd 20 faaiea] [Reta Q31D TBHIMGF (@RI AP IR ORO |

11) How many members does the Commonwealth Association have?

YT : PHASCIACE TG ST SAT ¢ 51 590d S > v (o ~1refiea s Fo@
B AT 7 TATOT (ST 2T 3 TG FHFISTAN TR (@I ARIPOI A6
o | 'THISTAY ATHPAYT T 2T S8 HEH Y If T (TGd T TGIRN) | Rr$T, A5, A5



RIS U1te oo 1 FTITAY AT TG | FITNTA 7757 110 27 F16 T o
TR |

12) At present, which country has the highest inflation rate?

1
2
3
v 4

Qatar
Zimbabwe
Dubai
Venezuela

AT : FASOTEP 0T (SITGITR WAAMNS D3 AR T (517 (A, ARARBATP Bz (P16
QNP G INOR PRCT QST FeAd A 20U, | (SIS IR I 2 oMd e fiferid
TTIRPT #I0T AYIRPCO (T I |

~— N N

13) The Olympic Games in 2012 took place in-

1) Los Angeles
2) Sydney

v 3) London
4) Beijing

T : WA 00 TF WK WS T 2053 S TG, THACTT | BCERL, 2033 HE 38 OF
AGTTA TIPS (5T TGO A FIER ISR @3RG- | 2038 FIET 00 TF AT
WIAPoRE (ST TGO X PIER IS TR AFL 203 I 08 TF IR WA
(ST TS TR JTAIE T TG |

14) ‘SE" PR @Td WCT IO 27?

YT 2 SHE FRPIACR RITO0G AIDHO 27 | AFRPACTK WA gy W5 bR ©itst Now 21
T -
RIAOg, ATOG,IPTOG \3 TG |

15) The current vice president of the United States is

1) Joe Biden

v 2) Kamala Harris
3) Michael pompeo
4) Mike Pence



AT : FEAT IS SROR IRCMEO HIPA ATSAGTIR, RIS AR TS TG 8 OF
Vice President. f5fd 0 0o, 2030 S TP ¢ OF HIbd fA-I5d O o FEd |

AT 2 T (Ypwe) ST AT TP foreTa AR WY 1w | Sravy, e g
TP ST TR STPTe’ (S Q) TP , DIRHS JIFTd Rl TP Beetd "Rgeetr
(>»90) AfIPR ; AP ATSM AP BT * ATH ' (d»WO) AP |

17) IAGA FIPI F© S G1T AR Tor (e?

T : IATATY IR S S S0 (PPN PTG e GTT RIRTTE o2 o1 i | 93
IGOR FIETEE 2@ The Meaning of Art ' B30, TS Y93y SER YO PR FTSd
T AT IR FCOT IO ¢ | TR 13 IFOR PIRTE f&eeT * The Rule of the Giant' O&
TFOTIR TP STOT5F T GBI BB G, [ 435 e fen|

18) SRS TEAIH fe14cad

T 2 ATSCIRR I3 (F16 YU, Sbbro - aferd 249, Yawo) faed uded RIFR o e
SRR, TRMP, IRAART \3 WK AT | TS RO "ZAAIH ©id IBPTod \3 RE o Tae
PATIIOR &y Ao |

19) Lyric' <o 2o

1) 392519
2) °[
3) 5T



v 4) iSR!
AT : Lyric O TS T, T5Towd! 530 o |

20) FEYaoiGS AT GIAin ?

AT = TR X 23 IDO YA RIIP AT PRIALD ¢ AL WSS SMaTT IR ' | afp
FrrYa RETP O SHIEP STAF \3 HLSPS PRIAIGP | IR RIS O A0 TR
FIRIAGD | A6 HSRIF ToaT1 \3 5fHica” e IS |

WAL PRI IR AT HAMRRO5P TR WRCH-AF QP I0 ISP Aol T [ofad
G AT |

OITOEA Frasfer IRATCET FATIRIGTE SIRIRT 3678 A0 Jioga fGfos 17|
TIRAE 2300 KA TIF0 3T JRETaorad AU SoAITS

21) T SRR RKCT) J?

1) w1
2) PG
v 3) o1l
4) 513

I : @ ROy 2ior @icar T} ©R 31 FICOH ©R AF1RG 2%, BIP SRR R[OS 6T |
QTEd3 ST (TMSTR B T TS, G (CARF PTSY), (SIS (ANSAH PTS), <RI (CTRIH PTS) |

22) FYTIMCETN IRJI2 STAICSH BHIRA

TN : TRITB ST TR O R0 IR (PICAT W0 I STEBH @19 M, O O
LT 929113 A0 | (T« 0o ARG Ol 2 (@ D Id = 2oy |

23) RGP AT @1a 25T (e 2o 72

1) I&EeeT aFroE GIsRfo
2) J1ET QPTG



v 3) TSR Regfmyrer
4) vre1 fegRmrery

AT : OTT I RmIeic) AT Rierst 363 216 #ifar- stizes ofaar |
TRARASK RRIRAeeR 366 aPRe i ot wifzes o’ |
SR} RRIRMTeTcTR 360 231G “ifast- iRfoRpY |

24) T @ I5AT PERCZA?

AT+ AR WL (AP SRR A0 AT T ¢ T TR 50T faey F1a3 | 3 A1
IO BT HRa A8 T, A 517, T @R, |

25) TGP PR X[ e B 1A ?

v 1) SRR B 2|

2) e

3) acmafﬂmaﬂaaﬁ%a
4) IR (A T AT A

AT 2 KRS 18 AT QA SRR AT WGP <[] NG | NG PIRP Iei00 fr
TR ST 4R WINTRCE 00T 301 | fTFaies " \3 "I R 27 P SO WP
IS ST AT |

26) IRPFT '@ A G2

T : FPHATH bFI0! EMAIRR IS ILAT I IR * 5SS * PIRF @A | IS LA
O * IR PFT ST O | TTHATH SFIOID 34 IVARK PRSI 2 | PRATS G 2T
SN | PRSP BT A AT IRPRA | PRPITR" G 2T Rigroriodt |

27) 2roR e 513 ==

1) SIS
2) ot



3) SR
v 4) s

AT : @ TP SRFS AREAT SRR AT FRZ, (T TS X AR 7T S 2, GIOAIR LT
TMFC TR0 AOR | TRFT RO AR ST + 34 = = ST

28) ITS TGFS 35T DG LAY AT PIAD?

v 1

)

)
3)@%@
4) q98

AT : PTG TGP IANCHI AU BT ILA-ZRT (59) |

- fD 1T SRCOR AU AT |

- 0o Su D o1 Iz

- PTSI FOFS 3T P60 SREADICE “AMIF-ZRT BTN 6T BF I |

- aft T TSRO “faer RRIRTEIR 24F1e 21|

_ I APTRIG VAR S FORP I {5 a1 13 I ‘FIKT-2[T \3 ORfFaT |
- 9@ ‘JNYA-IRT TR TP AT 3 |

- BT TP JF 2 |

- OIS BTRCa” S0y A0 - ARG, T, GNP, J={T 254 |

B . IR O \3 20T T, ©. Gnfad CRE |

29) IR JPTGT 2RSS 20 T6 et?

AT = 12T QITCG T ATBD® 2T S FER © TR | 1T PTG Af6DT B0 \3
ST 531 ©. 2 XRIETR 4UE FET | G, RTAIR 05 TR, Y98t 1 2 TSI 20y
ST NI SFTS Q30 AP AfowH 1R 34|

30) We must adapt ___ ourselves all circumstance.

1

N

>

3) with

v t

I
o

)b
)i
)
)



AN : Adapt someone to something It1 G T4 @6 @1 ARERGI ST e Ay
AR (Adjust) @ | ICPR A3 TR TRPNZ ARIFERG S0 197 NSNS I

31) | took an aspirin to the pain in my knee.

1) accelerate
2) accompany
v 3) alleviate
)

4) deviate

AT : Knee 31 2500 51| B3 Aspirin 3T AAR \JFL (A 541 TR (Alleviate) FI00 IJ |
TR WS ATAR A JAT TARTIRR Ty SR (e |

32) Translation the following sentence into English: "W 9% <R[ 5001 STl
APO |"

1
2
v 3
4

If I could fly like a bird!

If I have the wings of a bird!
Had | the wings of a bird!

If | were a bird!

S~— N N N

T : TR M AR TO BT A6 07 3EE WM Had | the wings of bird!

33) @ G 21 <A orod | b A2

1) lll got ill spent.

v 2) Do or die.
3) Great minds think alike
4) Easier said than done.

TN : "SR S [T ¥}k *fod' = Do or die.

34) Translate the following sentence into Bengali: ‘Diamond cuts diamond.’

14N : FMfae AP 6 = Diamond cuts diamond.
S (T (TP AT IR = A man is known by the company he keeps.



35) No sooner had he reached the station —

1
2
3
va

then the train left
when the train left
and the train left
than the train left

~— N N S

T : Past perfect tense 3 5134 293K f/E X No sooner had + subject + ...
+ than + subject + past indefinite tense. ©@30, No sooner had | reached
T (RIS T (STRIC03 | AT W3 T CHXT (I 1 (oo Gt @0 e |

36) DEPTH : SEA::

1
2
v 3
4

Length: Width
Ray: Sun

Height: Mountain
Peak: Valley

~— N N

NN : Depth Y TSI ; Ta91| Sea WA HISK ; g4 | Height TR &%HwT , Bafo Mountain
WY 7RO , T | Ray WY IRT , 6301 Sun SR 51T, Ik Length @ nds | Width T e |

Peak O 5 5T ; BIRR | Valley TR Gorord | ATT8 Sea W3 Depth TEF @RI AT | AR
Mountain 93 Height Q& QR A1 |

37) NUMERATOR: DENOMINATOR ::

1
2
3
v 4

Fraction: Decimal
Divisor: Quotient
Ratio: Proportion
Dividend: Divisor

S~— N N N

AT : Numerator S Ga1C[ o< | Denominator ™27 | Dividend WY o1&y | Divisor
W Oro | {73, Fraction TSE W, GAT>T Decimal W aF-wTa1exT , »IfaF Divisor
QYOG | Quotient WY GIsTPe | Ratio WY W99 | Proportion W &GoMs , TGO |

ATATS @I A Numerator AP B9 WK Denominator A fab | &K SE Cved
Dividend A $9(& WK Divisor Oip faeb |

38) The error in the sentence, 'One of the recommendation made by him
was accepted; is

1) made by

v 2) recommendation
3) was accepted
4) one of the



I : BFCS W2 One TR Recommendation 1 33N & Singular | ISR SFCO
One g 381 Recommendation 13 #fRACS Recommendations X TR R TR
SR T Plural. ICPR AL OR FOP (O11P0 SPATR A TS (AP Q10 51310 TACR |

39) The actor — the auditorium before the audience stood up.

1) had been left
2) was left

v 3) had left
4) was leaving

AT : Past perfect tense YR Before VPR FRKCT A9 7K Past perfect Q3% 97 Past
indefinite tense I | IR W3 FTORT AGIAR {3 TRKAGT 5T (ST |

40) What is the opposite word of PLETHORA?

1
2
3

va

Profusion
Current
Balance
Shortage

~— N N S

AT : QAT Plethora WY AfoeTRY| 68, Shortage O 51| B3y, Profusion W
WROTRY| Current T 610 ;, SGTHIPO | Balance S [R5 2471|

41) The meaning of the phrase "To feather one's nest' is:

1) to cheat others

v 2) to be selfish
3) to provide for future
4) to gain popularity

AT : To feather ones nest WY fASR Ty WRICHR AT AT, facow @R (st | g,

To gain popularity ¥ SdferTer smai | To provide for future WY GREOA S SRIATR
3411 To cheat others T WAXP AGIRO P41

42) The idiom 'To break the ice' means

1) to get the truth
2) to be the first to begin
v 3) to bring out good news
4) to accomplish a difficult task



AT : QA To break the ice T 41 ST IOA ; G 7T 5T°0RS 510G (OIS ; AT
TG AT YA “WOF (@11 7353 To accomplish a difficult task W @Td 3f3d I
519Md 3<T1To bring out good news WY A< WA 311 To get the truth o0
03 fGN Mo |

43) | was astonished — the sad news.

AT : @I 9w [RiFTe RO Astonish at I0T | AT WS G0 AR A Q=3 [ifre T
NG |

44) Find the synonym of the word: PERPETUAL

1) Equable
2) Persistence
3) Steady

v 4) Everlasting

AT : 9 Perpetual = Everlasting @ 53310 58, Steady W TN B1fors a1
ARG | Equable T WofRAGART | Persistence Y TG T IO AT |

45) Choose the incorrectly spelt word:

1) Chauffeur

2) Dysentery
v 3) Typhoide

4) Diarrhoea

N— N N N

T = Correctly spelling word: Typhoid.

Typhoid = TIRwEG
Chauffeur = o1ei®
Diarrhoea = SRR

Dysentery = QaPR

46) The new Facebook's company name 'Meta' is a

v 1) Greek word
2) Persian word
3) Danish word



4) Swiss word

1A : Meta' Xl ATz 15796 X137 (0P | Q< Tl ST B! | BT, b DI 203D A
Facebook W13 FACATEE a1 I747 27 'Meta'

47) What is the 100m world record of Usain bolt?

1) 9.35 Sec
v 2) 9.58 Sec
3) 9.05 Sec
4) 10.12 Sec

MY : @AT0 AR TP Food Jdd =R [0 | 1 T Yoo DR 016 ».¢b GRS
132 200 TADR GG Y5.5% GTITS O IR | @AIT At 311 RIS 2050 A (S (FCeid |
5T 3052 SR o WATRE (TR TR FECZA | 05 A f[\3 AR » T Giran
T IEA |

48) The price of a coat in a certain store is Tk. 500. If the price of the court is
to be reduced by Tk. 150, by what percent is the price to be reduced?

1) 15%
2) 10%
3) 20%
v 4) 30%

1A = 500 TIT 718 3¢ = 150 OIpl
100 TR AT CH = (150 100)/500 T1eT
=30 TT1 A1 30%

49) If Mario was 32 years old 8 years ago, how old was hex years ago?

1) 24-x
2) x-24
v 3) 40-x
4) x-40

YT 2 8 72 2 Mario 19 I3 32 I24 A IO IUA = 32 + 8 = 40 724 | WO, X I2d
[ ORI T3 T2 = (40- X) I27 |



50) The product p of two prime numbers is between 9 and 55. If one of the
prime numbers is greater than 2 but less than 6 and the other is greater than
13 but less than 25, then p =

1) 15
2) 33
3) 34
v 4)51

AT = QAT 2 (AT 6 I FLIO! GNP FRAT AT 3 Q3R 5

13 (U 25 QT TR GNIeTP ST AT 17, 19 7R 23

QYTE, TP LTI BP9 L 55 QR FROI XA p = 3 X 17 = 51 TJ|
- e w14 = 51

51) Which of the following is equivalent to the pair of inequalities x +6> 10
and x-3 #8804; 57

1) 2<x<16

2) 2<x <8

3) 2=x>4
v 4) 4<x<8

T & AT, Xx+6>10

= X+6-6>10-6

SoxX>4

= X-3+3=< 5+3

" X<8

;. OF TNTOTIIL SO WHNTOND A 4<X<8.

52) How many goals were set in the UN Sustainable Development Goals-
2030 Agenda?

1) 18

2) 16

v 3)17

5

)
)
)
4)

1
1
AT : (G52 BT PR AP BRI ard T Transforming our world. 2000 SIER

LT I3 TP \3 THIRAISA *RR TR A Sifosiaee, 193 6 &1 The Sustainable

Development Goals (SDGs) a3 I3 FiETS 55 I | B@E SDGs A7 &P 7557 17 &
3L FPFEMl 169




53) Who is the designer of the official logo of Bangladesh Government?

v 1) A. N.A Shaha
2) Shib Narayan Das
3) Zainul Abedin
4) Kamrul Hasan

AT : AMLATRCK TN SIS FoQBdk et Q.09 .53 | By, IO Sa1sTs
SRPIR @, A, ke, Bom R <[ 4127

54) Which of the following group has only input devices?

1
2
3
v 4

Mouse, Keyboard and Monitor
Mouse, Keyboard and Plotter
Mouse, Keyboard and Printer
Mouse, Keyboard and Scanner

N— N N N

A - An input device is a piece of equipment used to provide data and
control signals to an information processing system, such as a computer or
information appliance. Examples of input devices include keyboards, mouse,
scanners, cameras, joysticks, and microphones.

55) If x+y = 7 and x-y=3, then x?-y? =?
1) 10

4

4

2

w N

)
)
)
)

v

I

1

A (AT A, X+y = 7 and x-y=3
T i, X2 - y2 = (X+Yy)(x-y)=7x3=21

56) As a salesperson, poly can choose one of two methods of annual
payment; either an annual salary of TK. 35,000 with no commission or an
annual salary of TK. 10,000 plus a 20 percent commission on her total annual
sales. What must her total annual sales be to give her the same annual pay
with either method?

1) Tk. 100,000
2) Tk. 130,000
v 3) Tk. 125,000
4) Tk. 120.000

N— N N N



1A : <7, OR IS [T 27190 I x T
2P, 10,000 + 20% of x = 35,000

= 10,000 + 0.2 x = 35,000

= 0.2x = 25,000

.. 25000/0.2

=1,25,000 G101

57) A rectangular floor that measures 8 meters by 10 meters is to be
covered with carpet that each measure 2 meters by 2 meters. If the carpet
cost Tk. 12 a piece, what is the total cost to cover the floor?

1) Tk. 200
v 2) Tk. 240
3) Tk. 960
4) Tk. 480

AT : AMOTPR PIRA CFAPA = 8 x 10 = 80 IsTADR
P CFAP = 2 x 2 = 4 I5fOR

. GG BTG &10sT = 80/4 = 20 O

WGAT, GPIRR IICAG FACO AI6 T

=20 x 12 = 240 T

58) The most recent state to join United Nations (UN) is-

1) East Timor

v 2) South Sudan
3) North Korea
4) Palestine

4T : The Republic of South Sudan formally seceded from Sudan on 9 July
2011 as a result of an internationally monitored referendum held in January
2011, and was admitted as a new Member State by the United Nations
General Assembly on 14 July 20

[Source: United Nations (UN) website]

59) If the sum of 5, 8, 12 and 15 is equal to the sum of 3, 4, x and x + 3,
what is the value of x?

1) 14

v 2)15
3) 17



4) 16

AT ; 2PITIH AT FAUCE M85 +8 + 12 +15=3 +4 + X + X + 3
= 2x + 10 = 40

= 2x = 30

S X =15;

60) The amount of time that three secretaries worked on a special project
are in the ratio of 1 to 2 to 5. If they worked a combined total of 112 hours,
how many hours did the secretary who worked the longest spend on the
project?

1) 16
v 2)70
3) 56

)
)
)
4) 80

AN : 3. FoTod e IR JAFCH

X DT ; 2x TTT A3 5X TBT|

. QPG A TR ATHT IS PEA=112 93 5x/(X+2X+5X)
=112 93 (5X + 8x) = 70 ITT|

61) The 180 students in a group are to be seated in rows so that there are an
equal number of students in each row. Each of the following could be the
number of rows except.

1

w N

) 20
) 4
) 30
v 4) 40
1A+ AT, G 210 5T 180 T |

= SR SIRAT G 9N = = 180/4 = 45 O
1,180/20 =910 , 31, 180/30 =6 T ;

5g 40 O SRR 347 2@ a1, KA 180/40 = 4.5
O3 SR 52U X 40

62) A retail appliance store priced a video recorder at 20 percent above the
wholesale cost of Tk. 200. If a store employee applied the 10 percent



employee discount to the retail price to buy the recorder, how much did the
employee pay for the recorder?

AN = O |Z, MBI Fe = 200 T

. BT T

= (240 U7 120 %) O1FT = = 240 x (120/100) = 240 TP
10% 2 YBAT T

= (240 U7 90% ) BT = 240 x 90/100 =216 T

63) For which of the following value of sis (50 + s)/s an integer?

1)4

N

(SY)
N N =

3
9
v4)5

I

0

AN = s = 3 I 113, (50 + 3)/3 = 53/3 T 2T A

s = 4 I0TT 13, (50 + 4)/4 = 27/2 TN TN |

WRH, s = 9 I 2113 (50+ 9)/9 = 59/9 TT [T T |

8, s = 50 I 13, (50+50)/50 = 100/50 = 2 T1 FTHAT |
3T BBI I s = 50.

64) Omicron was first detected first in

1
v 2
3
4

Israel

South Africa
Germany
France

)
)
)
)

AT = " AP ITSHTAT COIRIETSRICS AP0 AT FATTaR oi)PTT <o I 2"
QYT IR | Sy, ST IR AICE Fod WIHBPIE PRI SIS FE T T I |

65) Who is the first Bangladeshi woman to climb the World's highest peak,
the Mount Everest?

v 1) Nishat Majumder
2) Wasfia Majumder
3) Wasfia Nazreen



4) Nishat Nazreen

AT 2 5 (T 2052 A TST GOIRED SR IEF AYF IR A1} fPI0 TSR | 2V (& 2052
SIS SR IR J1KT AR TSRS TR T \STHRAAT ATSRI | TR 0 G 2050 HIEA
NS GIRE O’ I AT RSN 1SR T 31138 |

66) Arrange in ascending order the units of - memory TB, KB, GB, MB

1) MB> GB> TB> KB
2) GB> MB> KB> TB
v 3) TB> GB> MB> KB
4) TB> MB> GB> KB

AT : FRNBTIRR B YRR Ty IS AR T FR6T R FHOR TG TG 93P
(GAIRITRE | I I AP GB> MB> KB.

67) Company C produces toy trucks at a cost of Tk. 5.00 each for the first
100 trucks and Tk. 3.50 for each additional truck. If 500 toy trucks were
produced by Company C and sold for Tk. 10.00 each, what was Company C's
gross profit?

1) Tk. 3,250
2) Tk. 2,500
v 3) Tk. 3,100

4) Tk. 2.250

AN = 2 100 O EdT %A A-B = 5 x 100 = 500 TIRPT

W3R #RABT 400 O 4T s1f%a —b = 400 x 3.5 = 1,400 T

500 0 (a1 S1GA Ty A-E 20 = 500 + 1,400 = 1,900 T

58 @rNfafd 500 & caetan s v 3@ = 500 x 10 = 5,000 Tr=A1
. TR &% 2 = 5,000-1,900 = 3,100 T1T |

68) If p is an even integer and g is an odd integer, which of the following
must be an odd integer?

1) p/q
2) pq

v 3) 2p+q
4) 2(p+q)

I : QATE p = even IR q = odd. Positive, Negative 533 TG &
Ok a) (9 A=z p/q = even/odd
J™d b) O AR, pq = even x odd = even



[@T4 7T Even 1 Odd 13 @F a1 (d W& Even KT &9 30T Always even |
QoI €) O AR, 2p + g = 2; even + odd = odd
T d) O AR, 2 (p + ) =2 (even + odd) =even

69) A certain machine produces 1,000 units of product p per hour. Working
continuously at this constant rate, this machine will produce how many units
of product p in 7 days?

1) 7,000

2) 24,000

3) 40,000
v 4) 1,68,000

T : AT Ofd, 7 Rd = 7 X 24 = 168 IFT
A, ARET 1 IO LA™ I = 1,000 AFP
. (A0 168 TTR BeME 3 = 168 x 1000 units = 168000 933 |

70) Which of the key is not on the number keypad?

v 1) Ctrl
2
3

4

Num lock

)
)
)
)
4T : Del, Num lock, Enter are present on the number keypad.

71) The ratio of the length to the width of a rectangular. advertising display is
approximately 3.3 to 2. If the width of the display is is 8 meters, what is the
approximate length of the display, in meters?

1) 7
2) 11
v 3)13
4) 16
T : 4R, , TROCHAd o 3.3x bR \3 2% 2x bR
IO, 2X = 8

S X=82=4

feot =3.3x = 3.3 x 4 =13.2 OA

72) The smallest bones in the human body is found in the-

v 1) Ears



2) Feet
3) Knees
4) Fingers

A : The smallest bone in the body is a bone found inside your ear. There
are three tiny bones: the stapes, the incus, and the malleus. Together, they
are called the ossicles. The smallest of these is the stapes, which is
sometimes called the 'stirrup’ due to its shape.

73) What is the length (in kilometer) of the Padma Bridge?

AT 2 M1 GO GG Oilf w.5¢ Ao W3 819 Sb-.do Ao | &6 o 83 b 32 =1mra 8d
il

74) Python is a

1
2
v 3
4

Unicode simplifier
Utility software
Programming language
Antivirus

S— N N

TN : Python W30 TRIGE SREICTT B HIA (TSR TET| ddnd S TGT S JISTE
ft AT PP A | FMRT [T PAR S (AT ASKASTOR B9 QT (SR Ol LWL |
QAT (ATSTHRA HARRITP PRSI BT @RI SFF (3T TACZ | D8 HEK TIGIRCD
B 5.0 STRFIACT AT I |

75) A bag contains 7 red, 9 yellow and 3 black balls. If a ball is picked at
random, what is the probability that the ball drawn will be either a red or a
black ball?

A : AT IAME =7 +9+3=19T0
(16 &Y 3 AT I AAE =7 +3 =100
. QBT ST T DI I AT FSRAT = 10/19



76) Committee X has 4 members, committee Y has 5 members, and these
committees have no members in common. If a task force is to be formed
consisting of one member of X and one member of Y, how many different
task forces are possible?

1)9

N

0

w
N O

v

I

0

AT 2 QATE, 4 T X0 1 TAP AC1 = 4 T I3 FT I |
WRK, 5 Td X0 1 TA@ °Cy = 5 BT 1213 BT I |
R TR AT =4 x 5 = 20 S|

77) Using output devices one can

1
2
3
v 4

Store Data
Process Data
Scan Data
Print Data

~— N N

AT Using output devices one can view, hear, print or get data.

Output devices are the devices that receives data from the computer and
transforms that data into human readable form, thereby communicating with
the outside world.

78) Which of the following is the shortcut control key for centering text?

1) Ctrl + B
2) Ctrl + F
v 3)Ctrl + E
4) Ctrl + C

AT 2 PATD 8

Ctrl + S Save;

Ctri + E Central Alignment;
Ctrl + C Copy ;

Ctrl + L Left Alignment;
Ctrl + X Cut;

Ctrl + R Right Alignment;
Ctrl + V Paste ;

Ctrl + ] Justify Alignment;



Ctrl + Z Undo ;

Ctrl + N Open a new window;
Carl + Y Redo ;

Ctrl + H Replace;

Ctrl + P Print ;

Ctrl + F Find

79) Which one is under 'Bretton Woods Institutions?

A : RPg AT IR IMF &' Breton Woods Institutions "I 2| BT, > (AP 3 TR
Y988 ST TN [ TTPIRIER G55 S8R TS 31T @IChce o 8¢ 6 cioom
Afofaftom s sRIo piea q ey e afowT 2101 @3 e arpifaeers sries
24 TGET Y»8¢ e | [Pg I ¢ O w181 T IBRD, IDA, IFC, ICSID U3k MIGA,

80) 10,4,26,16 what is the median of the numbers shown?

1) 14
v 2)13
3) 15
4) 10

QAT 1 AP FHGIRT FSTE 4,10,16 L 26
WITERT O, §4 = (104+16)/2 = 26/2 =13

TR IGR 2%d WK “WPF1 fd I [ifFast et oaRsies a3 fics fof&s F=ds live.hellobcs.com
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